
Άσκηση 3 (ppt)  

Να βρεθεί ο αντίστροφος του πίνακα Α με την μέθοδο του επαυξημένου πίνακα. 

𝐴 = [
1 0 3
2 −1 4
−3 1 2

] 

 

Λύση 

[𝐴|𝐼] = [

1 0 3 |
2 −1 4 |
−3 1 2 |

1 0 0
0 1 0
0 0 1

]

𝐿2→𝐿2−2𝐿1
𝐿3→𝐿3+3𝐿1
→        [

1 0 3 |
0 −1 −2 |
0 1 11 |

1 0 0
−2 1 0
3 0 1

]

𝐿3→𝐿3+𝐿2
→       [

1 0 3 |
0 −1 −2 |
0 0 9 |

1 0 0
−2 1 0
1 1 1

]
𝐿3→

1

9
𝐿3

→     [

1 0 3 |
0 −1 −2 |
0 0 1 |

1 0 0
−2 1 0
1/9 1/9 1/9

]

𝐿1→𝐿1−3𝐿1
𝐿2→𝐿2+2𝐿1
→        [

1 0 0 |
0 −1 0 |
0 0 1 |

6/9 −3/9 −3/9
−16/9 11/9 2/9
1/9 1/9 1/9

]

𝐿2→(−1)𝐿2
→       [

1 0 0 |
0 1 0 |
0 0 1 |

6/9 −3/9 −3/9
16/9 −11/9 −2/9
1/9 1/9 1/9

] 

 

𝐴−1 = [

6/9 −3/9 −3/9
16/9 −11/9 −2/9
1/9 1/9 1/9

] =
1

9
[
6 −3 −3
16 −11 −2
1 1 1

] 

 


